
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

l%shdldrlï 

m;%sldj 
9 fY%aKsh 

.Ks;h 

15  mdvu 

 

iólrK 



iólrK 

      ir, iólrK 

 

 

mqkÍlaIK wNHdi 

my; oelafjk iólrK úi|kak 

i. 𝑥 + 3 = 7 

ii. 𝑥 − 2 = 5 

iii. 2𝑥 + 5 = 11 

iv. 3𝑥 − 7 = 8 

v. 3 − 2𝑥 = 13 

vi. 
𝑥

3
= 4 

vii. 
𝑚

2
− 1 = 9 

viii. 2(𝑥 + 3) = 28 

ix. 5(1 − 𝑥) = 15 

 

      

jryka folla iys; ir, iólrK úi£u 

 

my; iólrK úi£u i|yd § we;s ysia;eka iïmQ¾K lrkak 

 

3{2(𝑥 + 3) − 3} = 21 

3{2𝑥+ . . −3} = 21 

3{2𝑥 + 3} = 21 

… . +9 = 21 

6𝑥 + 9− ..  = 21 − 9 

6𝑥 = 12 

6𝑥
=

12
 

𝑥 = 2 

 

3{2(𝑥 + 3) − 3} = 21 

3{2(𝑥 + 3) − 3}

3
=

21

3
 

2(𝑥 + 3) − 3 =  … 

2(𝑥 + 3) − 3+ . . = 7+ . . 

2(𝑥 + 3) = 10 

2(𝑥 + 3)

2
=

10

2
 

𝑥 + 3 = 5 

𝑥 + 3− . . = 5− . . 

𝑥 = 2 

 

my; iólrK úi|kak 

i. 3{2(𝑥 + 5) − 10} = 18 
ii. 2{4(𝑥 − 3) + 7} = 30 
iii. 3 + 2{5 + 3(4 − 𝑥)} = 31 

iv. 4 + 3{𝑥 − 2(3 − 𝑥)} = 22 
v. 3𝑥 + 2{𝑥 + 4(𝑥 − 3)} = 41 
vi. 3{2𝑥 + 4(7 − 𝑥) − 5} + 𝑥 = 54



 

Nd. iys; ir, iólrK úi£u 

 

my; iólrK úi£u i|yd § we;s ysia;eka iïmQ¾K lrkak 

 

2𝑥 + 6

3
= 4 

(2𝑥 + 6)

3
× . . = 4 × . . 

2𝑥 + 6 = 12 

2𝑥 + 6− . . = 12− . . 

2𝑥 = 6 

 
2𝑥

=
6

 

𝑥 = 3 

𝑥 − 5

2
− 3 = 1 

𝑥 − 5

2
− 3+ . . = 1+ . . 

𝑥 − 5

2
= 4 

(𝑥 − 5)

2
× . . = 4 × . . 

𝑥 − 5 = 8 

𝑥 − 5+ . . = 8+ . . 

𝑥 = 13 
 

 

 

my; iólrK úi|kak 

i. 
𝑥+7

2
= 5 

ii. 
3𝑥−4

7
= 2 

iii. 
4𝑥

5
− 7 = 1 

iv. 
5𝑎+6

3
− 3 = 4 

v. 
𝑏−5

2
− 1 = 3 

vi. 
2𝑎

3
+

𝑎

6
= 10 

vii. 
3𝑚

2
+

2𝑚

3
= 13 

viii. 
𝑥−3

2
+

2𝑥+6

5
= 6 

ix. 
𝑏

5
+

𝑏+5

4
= 7 

x. 
2

3
{

𝑥+3

4
+ 6} = 6 

 

 

 

 

 

 

 

 

 

 

 



 

 

 


